Balancing Synthesis Reactions

Balance the following synthesis reactions.

1) N,+_  H,—>_  NH,
2) K + C,->_  Kd

3) N, + F,>__ NF

4) C+ S, __ S
5__ Na+ O,>__  Nao
6) N, + O, > N.O,
7 A+ S>> __ ALS,
8  Cs+ N,=>_ GCs,N
9__ Na+__ CL-> NaCl
100  Rb+ Ss>__ RbS
m_ A+ O,>_ ALO,
120 Sb+_ CL—>__ SbCl,
13y Mg+ O,>__ MgO
49 Sn+_ CL-> Sndl,
15) P+ o, > P,O




Balancing Synthesis Reactions

Answers

) _1 N,+_3 H,=>_2 NH,
2_2 K+_1 d,=>_2 Kd

3)_1 N,+_3 F,—>_2 NF,

4_4 C+_1 S,—>_4 Cs,

5__4 Na+_1 O,=>_2 NaO
6_ 2 N,+_5 O,=>_2 NO
7_16 Al+_3 S,>_8 ALS,
8§ _6 Cs+_1 N,>_2 GCsN
9_2 Na+_1 C,>_2 Nadl
1_16 Rb+_1 S;>_8 RbS
m_4 Al+_3 O,>_ 2 ALO,
122 _2 Sb+_3 CL->_2 Sbdl,
13y _2 Mg+_1 O,>_ 2 MgO
149 1 Sn+_ 2 CL->_1 Sndl,
15 _4 P+_3 O,>_1 PO,
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